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1. ______________ is a word or phrase that usually come 
after a ‘be’ verb such as am, is, are, was and were to 
make the sense complete. 
A) Verb         B) Subject  
C) Complement     D) None of these 

 
2. Name the goddess which mention in the prose “To the 

land of snow”. 
A) Nanda devi     B) parvathi  
C) laxmi       D) durga 

 
3. Who is the poet of “The Piano”? 

A) Famida Y. Basheer   B) Lewis Carroll 
C) Kamala Das      D) D.H. Lawrence 

 
4. Match the following  

A) Khalil Gibran                     1883-1931 
B) Annie Louisa walker           1836-1907 
C) D.H.Lawrence                    1885-1930 
D) Walt Whitman                    1819-1892 
 
A) 1 2 3 4       B) 2 3 4 1  
C) 3 4 1 2       D) 4 3 2 1 

 
5. “Biking 

A) Dipti        
B) Thomas hardy 
C) Brian patten      
D) Judith Nicholls 

 
6. “Clouds float in the sky because they are __________ 

than the air.” 
A) Light        
B) Lighter  
C) Lightest        
D) More light 

 
7. “He whom we worship/ by whose gift /we live is the 

lord /no error.” 
Pick out the correct answer 
A) He whom we worship   
B) by whose gift 
C) we live is the lord     
D) no error. 

 
8. Which one is not a poem? 

A) The apology    
B) The Nation united 
C) The man he killed   
D) A man who had no eyes 

 
9. Pick out the best option 

“Learn to labor and to wait.” 
A) The piano       
B) To a Millionaire  
C) A psalm of life      
D) Don’t quit 

 
 
 

Choose the correct ‘Synonyms’ for the underlined 
words from the options given 
 
She was in a two-metre wide concrete storm drain 
which was almost completely filled with water and it 
was still rising. Across the drain stretched a small 
plastic pipe. Further on, the tunnel was completely 
black. 
 

10. CONCRETE  
A) Real      B) Unreal   
C) Set      D) None of them 
 

11. COMPLETELY 
A) Utterly      B) Unruly   
C) Untidy      D) All of them 
 

12. RISING 
A) Volume down   B) Expanding  
C) Ruled     D) Extra  
 

13. STRETCHED 
A) Running    B) Pulled 
C) Pushed     D) All of these  
  

14. TUNNEL 
A) Dig      B) Compete   
C) Bridge     D) Subway 

 
15. “And staring face to face” 

A) Repetition     B) Ellipsis  
C) Simile     D) None of them 

 
16. Choose the correct place where the following folk 

dance originate. 
Chang Lo 
 
A) Orissa     B) Bihar  
C) Tamil Nadu    D) Nagaland 

 
17. “No nightingale did ever chaunt More welcome notes 

to weary bands Of travellers in some shady haunt, 
Among Arabian sands:” 
A) Snake      
B) Women’s right 
C) A psalm of life   
D) The solitary Reaper 

 
18. Find the meaning for the following underlined words 

The old soldier was driving a batteredcar. He had grey, 
but thick crisp hair. He saw a small girl crossing the 
road. She was dressed in tears and tatters. The soldier 
had been commissioned to take care of the security of 
the new factory. He wanted to invest his salary in 
business.  
Battered 
A) Beater      
B) Worn out 
C) Painted      
D) Dusty 
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19. Match the characters with relevant story title 
a) Shylock    1. Lady of Belmont 
b) Bassanio    2.Merchant of venice  
c) Antonio    3. Money lender 
d) Portia     4. Antonio’s Friend 

 
A) 3 4 1 2    B) 2 3 4 1  
C) 3 4 2 1    D) 1 3 2 4 

 
20. From where the story “The swept away” adapted? 

A) The Reader’s Digest  
B) The writer blog 
C) The magazines    
D) None of these 

 
21. Cybernetic + organism _______________ 

A) Cyborg     B) Cybonism 
C) Cybernism    D) None of them 

 
22. Choose the figure of speech for the give line 

“A mother like the mom you were to me” 
A) Repetition    B) Simile 
C) Anaphora    D) Metaphor 

 
23. “There’s big work to do and there’s lesser to do 

 And the task we must do is the near.” 
Choose the poem in which these words occur 
A) A psalm of life  B) Laugh and be merry 
C) Manliness    D) None of them 

 
24. Pick out the most successful play of Oscar wilde  

A) The importance of being Earnest   
B) The happy prince 
C) The child who never grew 
D) None of them 

 
25. Regarding Doctrine of lapse, she filed an appeal for 

the hearing of her case in London. But, her plea was 
rejected. Here who is referring as “Her”? 
A) Helen keller   B) Rani Lakshmibai 
C) Chawla     D) None of them 

 
26. Why is she called ___________ the principal? 

A) By   B) To   C) On  D) At 
 
27. Steam ------------- vegetables are healthy.  

A) cooked     B) cooking  
C) to cook     D) cooks 

 
28. Find the error. 

A) Since I had been gone  
B) through the book 
C) long back, I could   
D) not remember the contents.  

 
29. Find the present perfect continuous tense. 

A) She has been learning Korean since last year. 
B) She had been learning Korean since last year 
C) She will have been learning Korean since last year. 
D) None of them 

 

30. “ And voice in me said: if you were a man” 
Select the figures of speech that is used here. 
A) Alliteration     B) Simile   
C) Repetition     D) All of these 

 
31. Who won noble prize for literature in 1913? 

A) Walt Whitman    B) Anne Louisa walker 
C) Rabindranath Tagore  D) All of them 

 
32. “we are not taught this kind of thing in our school” 

Who said these and to whom? 
A) Swami – Mother   B) Swami – Father 
C) Swami – Brother   D) Swami – sister 

 
33. “I like not fair terms and a villain’s mind” 

From which prose these words were taken? 
A) The merchant of Venice  
B) Romeo Juliet 
C) Pride and prejudice    
D) None of them 

 
34. “And Must wait, must stand and wait.” 

Pick out the Figure of speech. 
A) Anaphora      B) Oxymoron 
C) Simile       D) None of them 

 
35. Pick out the unsuitable one from the given option. 

A) Dr.Karal paulnack – Music The Hope Raiser 
B) To the Land of snow – Rabindranath Tagore 
C) You can’t be that, No you can’t be that – Brain 
patten 
D) Othello – William Shakespeare 

 
36. On a trekking trail ________ of Munsiyari is the 

Milam Glacier, one of the longest in the region. 
A) north-east      B) east –north 
C) north-west      D)west –north 

 
37. “I was in jail for 16 years. I _______ my dues, said the 

con man who turned over a new leaf. 
A) pay        B) has paid   
C) have paid      D) will pay 

 
38. “Once a month I meet my parents.” 

Pick out the correct pattern. 
A) S V A C      B) A S V O  
C) A S V C      D) S V A O 

 
39. Which tense would you use for talking about next 

weekend?  
A) Past        B) Present   
C) Future        D) None of them 

 
40. “I know the glacier like the back of my hand, I will 

find us a way” 
Choose the prose  
A) Yaanai malai      
B) To the land of snow 
C) Brihadeeswarar Temple   
D) None of them 
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41. Transform the following sentence into Superlative 
degree. 
“Lead is heavier than all other metals.” 
A) Lead is the heaviest of all metals. 
B) Lead is the more heaviest of all metals. 
C) Lead is the more heavy of all metals. 
D) None of them. 

 
42. Which of th poet’s works marks a bridge between 

victorian age and the modernist movement of the 
twentieth century? 
A) Shakespeare   B) Walt Whitman 
C) Thomas Hardy  D) D.H.Lawrance 

 
43. Which of the following is not a poem? 

A) Inclusion    B) Bat  
C) A tiger in the zoo  D) Two friends 

 
44. Pick out the one which is wrong 

“I was sees/a strange fellow /on the street/no error.” 
A) I was sees    B) A strange fellow 
C) On the street    D) No error 

 
45. Who does not belong to the nationality of UK? 

A) D.H.Lawrence    
B) Elizabeth Barrett Browing 
C) William Shakespeare  
D) Archibald Lampaman 

 
46. Important lines from poems 

Select the poem from which these lines were taken for 
the following questions. 
“O winged seeds! You crossed the furrowed seas To 
nestle in the warm and silent earth. “ 
 
A) The man he killed  B) English words 
C) Women’s right   D) None of them 

 
47. “Act, — act in the living Present!  Heart within, and 

God o’erhead!” 
Choose the poem 
A) The ant eater   B) Music 
C) Sonnet no 114   D) A psalm of life 

 
48. Match the following words and Phrases given in 

Column A with their meanings in Column B. 
     A                        B 
a) Take down       1.Submit  
b) Give up           2. Leave 
c) Get off            3. Write 
d) Hand in           4. Abandon  
 
A) 3 4 1 2     B) 2 3 4 1   
C) 3 4 2 1     D) 1 3 2 4 

 
49. “Came you from Padua, from Bellario?”  

Pick out the person who said these lines  
A) Duke     B) Nerissa  
C) Shylock     D) None of them 

 

50. “Love’s not Time’s fool, though rosy lips and cheeks 
Within his bending sickle’s compass come;” 
 
From which poem this line was taken? 
A) The model millionaire  B) A psalm of life  
C) Be the best      D) None of them 

 
51. For the following words find its Synonyms 

Attributes 
A) Strong       B) Wicked  
C) Primeval      D) Quality 

 
52. “Gratiano” belongs to which drama? 

A) Merchant of Venice   B) The selfish giant 
C) The model millionaire  D) None of them 

 
53. Pick out the name of the headman who comes in the 

story “After the strom” 
A) Jaman       B) Radha   
C) Diwan       D) Lal singh 

 
54. Blending the words 

Find the best answer for the following words 
Sky +laboratory__________ 
 
A) Skylabor      B) Labsky  
C) Skytory       D) Skylab 

 
55. “Gaia tells her tale” in this Gaia coined 

from___________ 
A) Latin       B) Greek   
C) Indian        D) Korean 

 
56. Who exclaimed these words “Under the wide starry 

sky, Dig the grave and let me lie”? 
A) R.L.Stevenson     B) Lewis carroll 
C) David Roth     D) None of them 
 

57.  “He was nominated for the Nobel Peace Prize five 
times between 1937 and 1948. After his death the 
Nobel Committee publicly declared its regret for never 
awarding him the Prize.” 
 
Who is mentioned as he in the above given statement? 
A) Mahatma Gandhi   
B) Rabindranath Tagore  
C) Bharathiyar    
D) None of them 

 
58. Choose the period to which D.H.Lawrence belongs. 

A) English Renaissance  
B) Modernism 
C) Romanticism    
D) None of them 

 
59. Pick out the option which suits here 

When we reached railway station, the train ________ 
A) Have moves    
B) Has moved 
C) Had moved    
D) Has moves 
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60.  Fill in the blanks with suitable phrasal verbs  
I thought we were going to win the match, I felt --------
when we lost. 

 
 A) let down   B) let up   C) let in   D) let off 

 
61. “They appointed him the principal” 

A) S V O     B) S V O A   
C) S V O C    D) S V 

 
62. Identify the error. 

A) The head of the department  
B) advised all the staff 
C) to not to        
D) indulge in gossip  

 
63. Choose the best answer for the given word, which is 

most opposite. 
Contemporary 
A) Current      B) Modern  
C) Existing      D) Old 

 
64. Find the phrases verbs for the following words 

Hang on 
A) Submit      B) Wait  
C) Match      D) Hold 

 
65. “Laugh and be merry, remember, better the world 

with a song,  
Better the world with a blow in the teeth of a wrong. 
Laugh, for the time is brief, a thread the length of a 
span.  
Laugh and be proud to belong to the old proud pageant 
of man.” 
 
Find the Rhyme Scheme 
A) ab ab      B) aa bb  
C) ab cd      D) None of them 

 
66. Identity the one which suits here. 

Is life But a dream __________ 
 
A) Rudyard kipling   B) Lewis carroll 
C) Famida      D) Robert Frost 

 
67. Identify the following poet’s Nationality 

Annie Louisa walker  _____________ 
A) USA      B) UK  
C) India      D) None of them 

 
68. “if she had more money ________” 

A) She can buy a scotty    
B) She could buy a scotty 
C) She could have bought a scotty 
D) She buys scotty 
 
 
 
 
 
 

69. “They was been/ building the bridge /for several 
months /No error. 
 
Pick one which is wrongly noted 
A) They was been   B) building the bridge  
C) for several months   D) No error 

 
70. “The pacific is____________ than any other ocean” 

A) Larger       B) More   
C) Most       D) None of them 

 
71. “I always pity the sons and daughters of rich men, 

who are attended by servants/, and have governesses at 
a later age, at the same I am glad to think that/ they do 
not know what they have missed.” 
 
A) “I always pity the sons and daughters of rich men, 
who are attended by servants 
B) and have governesses at a later age, at the same I am   
glad to think that 
C) they do not know what they have missed 
D) No error 

 
72. “In the world’s broad field of battle, In the bivouac of 

Life,” 
 
Choose the best one 
A) Don’t Quit     B) Laugh and be merry 
C) Sonnet no 112    D) A psalm of life 

 
73. Choose the correct ‘Antonyms’ for the underlined 

word from the options given  
 

I have fought against white domination, and I have 
fought against black domination. I have cherished the 
ideal of a democratic and free society in which all 
persons live together in harmony and with equal 
opportunities. 

 
74. AGAINST 

A) Beside       B) Compared to 
C) Competition     D) None of them 

 
75. DOMINATION 

A) Control      B) Command 
C) Power      D) None of them 

 
76. CHERISHED 

A) Beloved     B) Valued  
C) Treasured       D) All of them 

 
77. SOCIETY 

A) Culture      B) Humanity 
C) Association     D) None of them 

 
78. HARMONY 

A) Agreement     B) Accord  
C) Treaty      D) None of them 
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79. Select the correct prefix word  
_____freeze 

A) Anti      B) Un   
C) Im      D) None of them 

 
80. “The Piano” 

A) D.H.Lawrence   B) John Masefield 
C) Ralph      D) None of them 

 
81. Pick out the author who created these works  

“Farmer” 
A) Thakazhi Sivasankaran Pillai   
B) Rabindranath Tagore 
C) Thomas hardly      
D) Ruskin Bond 

 
82. “Breaking the silence of the seas Among the farthest 

Hebrides.” 
A) Sonnet no 112   B) Sonnet no 116 
C) Sonnet no 114   D) None of them 

 
83. “I saw her singing at her work, And o’er the sickle 

bending” 
A) The cry of the children   
B) The solitary Reaper 
C) The lottery ticket    
D) None of them 

 
84. Find the short stories for the given authors. 

R.K.Narayofi 
A) Snake      B) The clear sky 
C) Two friends   D) Swami and the sum 

 
85. Bonnie Chamberlain 

A) A Man who had no eyes   
B) Sam 
C) The face of judas Iscariot   
D) None of them 

 
86. ________ is the main character in “The Necklace” 

A) Matilda     B) Ronnie  
C) Phatik     D) None of them 

 
87. “Laura Merton” in which drama this character falls? 

A) The selfish Giant    
B) The last leaf 
C) The model millionaire   
D) Two friends 

 
88. Who is malar’s friend? 

A) Neelavathi   B) Neelo   
C) Nila     D) Nevetha 

 
89. Who honored to speak at caesar’s triumphal parade? 

A) Lepidus     B) Cicero   
C) Murellus     D) Decius 

 
 
 
 
 

90. Whose work is “A flight with the moon on their 
wings”? 
A) Susannah Hickling   
B) Rob Reilly 
C) Kamala das     
D) None of them 

 
91. Who said "I've got to try to grab that pipe”? 

A) Susannah    B) Serge   
C) Hickling    D) Celine 

 
92. What is called a land and water mass? 

A) Panthalassa and Pangea  
B) Pangea and Panthalassa 
C) Earth        
D) None of these 

 
93. advertisement+ entertainment______ 

A) advertment    B) enterment  
C) advertisenter   D) none of them 

 
94. Match the following 

a) A trespasser               1 The Necklace 
b) FramtonNuttle          2 Regugee 
c) MMe.Forestier           3 Reflowering 
d) Ambi                         4 Open window 
 
A) 2 4 1 3     B) 2 3 1 4  
C) 3 2 1 4     D) 3 1 2 4 

 
95. Identify the figure of speech for the given line 

“And treat those two imposters just the same” 
A) Ellipsis     B) Personification 
C) Oxymoron    D) None of them 

 
96. Whose poem is this “The man he killed”? 

A) Norman Nicholson   
B) John Masefield 
C) Thomas Hardy    
D) None of them 

 
97. In the lesson, the helping hand who is Giovanni? 

A) A dancer      
B) A singer 
C) A fictional painter   
D) All of these 

 
98. Who has waiting for her husband and brother to 

return who went for hunting? 
A) Framton Nuttle  B) Ronnie 
C) Vera     D) Mrs.Sappleton 
 

99. Anton Chekhov belongs to _____________ 
A) Prussian    B) Russian  
C) Indian     D) Canadian 

 
100. Identify the correct meaning of the phrase. 

He never give up his goals.  
A) surrender    B) abandon 
C) hold      D) record 
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101. Consider the following statements 
I. Light must travel from denser medium to rarer 
medium. 
II. The angle of incidence inside the denser medium 
must be greater than that of the critical angle. 
 
Which of the above is/are the conditions to achieve 
total internal reflection? 
 
Choose the correct option from below: 
A) I only  B) II only  C) Both  D) None 
 

பின்வரும் அறிகக்கககைக் கவனியுங்கை் 

I. அடரத்த்ி ஊடகதத்ில் இருநத்ு அரிதான 

ஊடகதத்ிற்கு ஒைி பயணம் செய்யும். 

II. அடரத்த்ியான ஊடகதத்ிற்குை்ைான 

படுககாணம் உய்யநிகலக் ககாணதக்த விட 

அதிகமாக இருகக் கவண்டும். 

 

முழு அகஎதிசராைிப்பு அகடவதற்கு கமகல 

உை்ை நிகலகம / நிபநத்கனகை் எது 

சபாருநத்ும். 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும்: 

A) I மடட்ும்      B) II மடட்ுகம  

C) இரண்டும்      D) எதுவும் இல்கல 

 
102. Consider the following statement(s)  

I. Article 29 provides protection of languages script and 
cultural of minorities. 
II. The right to constitutional remedies is enshrined in 
article 32. 
 
பின்வரும் அறிகக்க (கள்) கவனிகக்: 

I. விதி 29 ஆனது, சிறுபான்கமயினரின் 

மமாழியியல் மற்றும் கலாசச்ாரதத்ின் 

பாதுகாப்கப வழங்குகிறது. 

II. அரசியலகமப்புச ்சடட்ங்களுக்கான உரிகம 32 

வது விதியில் உறுதிப்படுதத்ப்படட்ுள்ளது. 

 
Which of the above statement(s) is/are correct? 
மமற்கூறிய அறிகக்கயில் எது சரியானது? 

 
A) I only  B) II only   C) Both  D) None 

 
103. Which Indian state unveiled the world’s first-ever 

thermal battery on 6th August 2018? 
A) Telengana       B) Andhra Pradesh 
C) Madhya Pradesh     D) Tamil Nadu  
 
2018 ஆகஸ்ட ் 6 ம் மததி உலகின் முதலாவது 
மவப்பச ்சாரந்த் மபடட்ரிகய எநத் மாநில அரசு 
மவளியிடட்து? 
A) மதலங்கானா     B) ஆநத்ிரா 
C) மதத்ியப் பிரமதசம்   D) தமிழ்நாடு 
 

104. Match the freedom movement with their leaders. 
     Movement                     leaders 

a. Home Rule Movement  1. Periyar 
b. Mahad March      2. Raja Gopalachari 
c. Vedaranyam Salt Satyagraha 3. Dr. B.R. Ambedkar 
d. Vaikom Satyagraha     4. Mrs. Annie Besant 
 

சுதநத்ிர மபாராடட்ங்ககளயும் அதன் 

தகலவரக்களயும் மபாருதத்ுக. 

 

   மபாராடட்ம்              தகலவரக்ள்  

a. சுமதசி இயக்கம்   - 1. மபரியார ் 

b. மஹத ்மாரச் ்   - 2. ராஜமகாபாலாசச்ாரி  

c.மவதாரண்யம் உப்பு சதத்ியாகிரகம்  

- 3. டாகட்ர.்B.R. அம்மபதக்ர ் 

d. கவக்மகாம் சதத்ியாகிரகம்  

- 4. அன்னிமபசன்ட ் 

 

  a  b  c  d 
A) 4  3  2  1 
B) 2  4  3  1 
C) 3  4  2  1 
D) 3  2  1  4 
 

105. Consider the following 
I. Study of cell   - Cytology 
II. Study of tissues - Histology 
 
Which of the above is/are correctly matched? 
A) I only  B) II only  C) Both  D) None 
 
பின்வருவகதக் கவனியுங்கை் 

I. செல் ஆய்வு - கெடட்ாலஜி 

II. திசுகக்ைின் ஆய்வு - ஹிஸ்கடாலஜி 

 

கமகல உை்ைவற்றில் எது ெரியாக சபாருநத்ும்? 

A) I மடட்ும்      B) II மடட்ுகம  

C) இரண்டும்      D) எதுவும் இல்கல 

 

106. Consider the following statement about inter-caste 
marriage system of ancient Hindu society. 
I. In Anuloma marriage, women of higher caste could 
marry men of lower caste. 
II. In Pratiloma marriage, men of lower caste could 
marry women of higher caste. 
 
Which of the above given statement(s) is/are correct?  
A) I only      B) II only 
C) Both      D) Neither I nor II 
 

பழங்கால இநத்ு சமுதாயதத்ின் கலப்பு திருமண 

முகறகயப் பற்றி பின்வரும் கருதக்த 

கவனியுங்கள். 

I. அனலமா திருமணதத்ில், உயர ் சாதி மபண்கள் 

கீழ் சாதி ஆண்ககள திருமணம் மசய்து 

மகாள்ளலாம். 

II. பிரதிமலாமா திருமணதத்ில் கீழ் சாதி ஆண்கள் 

உயர ் சாதி மபண்ககள திருமணம் மசய்து 

மகாள்ளலாம். 

 

மமற்கூறிய அறிகக்கயில் (களில்) எது சரியானது? 

A) I மடட்ும்     B) II மடட்ும்  

C) இரண்டும்     D) இரண்டும் இல்கல 

 
107. Consider the following statements 

I. Isotherms are imaginary lines connecting points that 
have equal temperatures. 
II. Isobars are imaginary lines connecting points that 
have same atmospheric pressures. 
 

Choose the correct option from below 
A) I only  B) II only  C) Both  D) None 
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பின்வரும் அறிகக்கககளக் கவனியுங்கள் 

I. ஐமஸாமதரம்ஸ் என்பது சமமான மவப்பநிகல 

மகாண்ட புள்ளிககள இகணக்கும் கற்பகன 

மகாடுகளாகும். 

II. ஐமசாபாரக்ள் என்பது அமத வளிமண்டல 

அழுதத்ங்ககளக் மகாண்டுள்ள கற்பகன 

வரிககள இகணக்கும்  

 

கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும் 

A) I மடட்ும்      B) II மடட்ுமம  

C) இரண்டும்      D) எதுவும் இல்கல 

 
108. The main objective of nationalisation of bank was 

A) Private social welfare   B) Social welfare 
C) To earn      D) Industries monopoly 
 
வங்கியின் கதசியமயமாக்கப்படட் முகக்ிய 

கநாக்கம்? 

A) தனியார ்ெமூக நலம்   

B) ெமூக நலம்  

C) வருவாய் ஈடட்     

D) சதாழில் முற்றுரிகம 

 
109. Where did Indian External Affairs Minister 

Sushma Swaraj inaugurate Mango Festival organised by 
government of Uttar Pradesh? 
A) Tashkent, Uzbekistan   
B) Astana, Kazakhstan 
C) Bishkek, Kyrgyzstan    
D) Madrid, Spain 
 
இநத்ிய மவளியுறவுதத்ுகற அகமசச்ர ் சுஷ்மா 
ஸ்வராஜ் உதத்ரப்பிரமதச மாநிலதத்த்ின் 
மாம்பழ விழாகவ எங்கு துவங்கிகவதத்ார?் 
A) தாஷ்கண்ட,் உஸ்மபகிஸ்தான்  
B) அஸ்தானா, கஜகஸ்தான் 
C) பிஷ்மகக், கிரக்ிஸ்தான்  
D) மாடர்ிட,் ஸ்மபயின் 
 

110. First & Last Indian Governor General of India 
A) Mount Batten    B) Rajagopalachari 
C) Canning     D) Warren Hasting 
 
இநத்ியாவின் முதல் மற்றும் ககடசி இநத்ிய 

கவரன்ர ்மஜனரல் யார?் 

A) மவுண்ட ்மபடட்ன்     

B) ராஜமகாபாலசாரியார ்

C) மகனிங்        

D) வாரன் மஹஸ்டிங் 

 
111. The fundamental rights were embodied in the 

constitution to ensure 
A) Secularism         
B) Democratic Government    
C) Individual liberty      
D) Democracy 
 
அடிப்பகட உரிகமகள் அரசியலகமப்பில் 

உள்ளடகக்ப்படட்ன மற்றும் இகத உறுதி 

மசய்கின்றன. 

A) மதசச்ாரப்ின்கம    

B) ஜனநாயக அரசு 

C) தனிநபர ்சுதநத்ிரம்  

D) ஜனநாயகம் 

112. According to the kinetic theory of matter, the 
particles in GASES are 
I. Are not close to each other but are spread far apart 
from each other 
II. Are held in fixed positions 
 
Which of the above statement(s) is/are correct? 
A) I only B) II only  C) Both  D) None 
 
சபாருைின் இயக்கவியல் ககாடப்ாடட்ின்படி, 

வாயுவில் உை்ை துகை்கை் 

I. ஒன்றுகச்கான்று சநருக்கமாக இல்லாமல் 

ஒன்றுகச்கான்று சவகுதூரம் பரவி இருக்கும்  

II. நிகலயான நிகலகைில் இருக்கும்  

 

கமற்கூறிய அறிகக்கயில் (கை்) எது ெரியானது? 

A) I மடட்ும்      B) II மடட்ுகம 

C) இரண்டும்      D) எதுவும் இல்கல 

 
113. Civil Disobedience Movement was started with 

how many members? 
 

எதத்கன உறுப்பினரக்களக் மகாண்டு சடட் 

மறுப்பு இயக்கம் மதாடங்கப்படட்து? 

 
A) 72   B) 74   C) 76   D) 78 
 

114. The Cartilage and Bone comes under _______ 
connective tissue. 
A) Proper connective tissue 
B) Supportive connective tissue 
C) Dense connective tissue 
D) Fluid connective tissue 
 

குருதச்தலும்பு மற்றும் எலும்பு _______ 

இகணப்புதத்ிசு கீே் வருகிறது. 

A) ெரியான இகணப்பு திசு 

B) துகண இகணப்பு திசு 

C) அடரத்த்ியான இகணப்பு திசு 

D) திரவ இகணப்பு திசு 

 

115. Vishnugopan who was defeated by Samudragupta 
during his South Indian expedition around 500A.D. 
Vishnugopa was a  
 
A) Chola King     B) Chalukya King  
C) Pallava King     D) Maurya King 
 

500 A.D காலதத்ில் சமுதத்ிரகுப்தரின் மதன்னிநத்ிய 

பகடமயடுப்பின் மபாது விஷ்ணுமகாபன் 

வீழ்தத்ப்படட்ார.் விஷ்ணுமகாபன் என்பவர?் 

A) மசாழ அரசர ்    B) சாளுக்கிய அரசர ் 

C) பல்லவ அரசர ்   D) மமௌரய் அரசர ்

 
116.  The area of right angled triangle is 24 cm2 and 

one of the sides containing the right angle is 6 cm. The 
altitude on the hypotenuse is 
 

மசங்மகாண முகம்காணதத்ின் பரப்பளவு 24 
மசமீ2 மற்றும் வலது மகாணதத்ில் உள்ள 
பக்கங்களில் ஒன்றானது 6 மச.மீ ஆகும். எனில் 
கரண்தத்ின் உயரவ்ு என்ன? 
 
A) 3.6   B) 4.8   C) 5.2   D) 12 
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117. What must be added to each term of the ratio 7:13, 
so that the ratio becomes 2:3? 
 

ஒவ்மவாரு விகிததத்ிற்கும் என்ன விகிதம் 

மசரத்த்ால், 7:13 ஆனது விகிதம் 2: 3 ஆகும்? 

 
A) 4    B) 3   C) 6   D) 5 

 
118. A sum of Rs. 400 amounts to Rs.441 in 2yr. What 

will be its amount, if the rate of interest is increased by 
5%? 
 

ஒரு குறிப்பிடட் மதாகக ரூ. 400 ஆனது, இரண்டு 

வருடதத்ில் ரூ. 441 ஆகிறது. எனில் அதன் வடட்ி 

விகிதம் 5% அதிகரிதத்ால் அதன் மதாகக 

என்னவாக இருக்கும்? 

 
A) 484   B) 560   C) 512   D) 600 

 
119. If the radius of a circle is increased by 6%, find the 

percentage increase in its area? 
 

ஒரு வடட்தத்ின் ஆரம் 6% அதிகரிதத்ால், அதன் 

பரப்பளவில் சதவீத அதிகரிப்பு கண்டுபிடிக்க? 

 
A) 15%   B) 8.5%  C) 12.36%  D) 17% 

 
120. If 12 men can finish a work in 20 days, then find 

the number of days required to complete the same 
work by 15 men? 
 

12 ஆண்கள் 20 நாடக்ளில் ஒரு மவகல முடிதத்ால், 

அமத மவகலகய 15 ஆண்கள் முடிக்க மவண்டிய 

நாடக்ளின் எண்ணிகக்ககய கண்டுபிடி? 

 
A) 18   B) 17   C) 16    D) 15 
 

121. India celebrated its _____ Independence Day on 
15th August 2018? 
 

2018 ஆகஸ்ட ் மாதம் 15ல் இநத்ியா ..... சுதநத்ிர 

தினதக்த மகாண்டாடியது? 

 
A) 72nd    B) 65th   C) 70th    D) 75th 
 

122. Consider the following statements with reference 
to Winds. 
I. These winds constantly blow in the same direction 
throughout the year. 
II. They are also called as prevailing winds. 
 

The above statements refers to  
A) Planetary winds   B) Periodic winds 
C) Variable winds    D) Local winds 
 

காற்று குறிதத் குறிப்புடன் பின்வரும் 

அறிகக்கககள கவனியுங்கள். 

I. இநத் காற்று ஆண்டு முழுவதும் அமத திகசயில் 

மதாடரந்த்ு வீசுகின்றன. 

II. அகவகள் காற்றுமவளி காற்று என 

அகழக்கப்படுகிறாரக்ள். 
 

மமற்கூறப்படட் அறிகக்ககள் எகதக ்

குறிகக்ின்றன? 

A) மகாளக் காற்று    B) காலநிகல காற்று 

C) மாறுபடட் காற்று   D) பிரமதசக்காற்று 

123. Surdas, who was known for his lyrics written in 
praise of Krishna, was the disciple of 
A) Nimbarka      B) Vallabhacharya  
C) Mirabai      D) Gnanadeva 
 

கிருஷ்ணாகவப் புகழ்நத்ு பாடிய பாடல் 

வரிகளால் புகழ்மபற்ற சூரத்ாசர,் யாருகடய சீடர ்

ஆவார?் 

A) நிம்பாரக்்கர ்    B) வல்லபாசச்ாரய்ா  

C) மீராபாய்      D) ஞானமதவா 

 

124. The Indian born physicist who is regarded as the 
father of Fibre Optics is  
A) S.N.Bose     B) C.V.Raman 
C) Narinder Kapany   D) Rao 
 
இகே ஒைியியல் தநக்த என கருதப்படும் 

இநத்ியாவில் பிறநத் இயற்பியலாைர ்

ஏ) S.N.கபாஸ்      B) C.V. ராமன் 

C) நரிநத்ர ்கபானி    D) ராவ் 

 
125. Which of the following Portuguese viceroy 

followed the principle of “Blue Water Policy” to 
become “The Masters of the Indian Ocean”? 
A) Vasco- da-gama  
B) Francisco-De-Almeida  
C) Alfonsa- De – Albuquerque  
D) All of the above 
 

இநத்ியப்மபருங்கடல் பகுதியில் 

மபாரச்ச்ுகீசியரக்ளின் மசல்வாக்கக 

உறுதிமசய்ய "நீல நீர ் மகாள்கக"- கய 

ககடபிடிதத் மபாரச்ச்ுகீசிய கவஸ்ராய் யார?் 

A) வாஸ்மகா-டா-காமா  

B) பிரான்சிஸ்மகா-டி-அல்மீடா  

C) அல்ஃமபான்ஸா- டி- அல்புமகரக்்கு  

D) மமமல உள்ள அகனவரும் 

 
126. Consider the following statements 

I. Article 34 provides for the restriction on fundamental 
rights while martial law is in force in any area within the 
territory of India. 
II. The Civil Rights Act was enacted in the year 1976. 
 
பின்வரும் அறிகக்கககளக் கவனியுங்கள் 

I. விதி 34 ஆனது, இநத்ிய எல்கலக்குள் எநத்மவாரு 

பிரமதசதத்ிலும் பகடதத்ுகறச ் சடட்ம் அமலில் 

இருக்கும்மபாது அடிப்பகட உரிகமகள் மீதான 

கடட்ுப்பாடிகன வழங்குகிறது. 

II. 1976 ஆம் ஆண்டில் சிவில் உரிகமகள் சடட்ம் 

இயற்றப்படட்து. 

 
Which of the above statement(s) is/are correct? 
மமற்கூறிய அறிகக்கயில் எது சரியானது? 

 
A) I only  B) II only  C) Both  D) None 

 
127. The oldest largest scale industry in India? 

 
A) Cotton   B) Jute   C) Steel   D) Cement 
 
இநத்ியாவின் பேகமயான மிகப்சபரிய 

அைவிலான சதாழில்? 

 

A) பருதத்ி   B) ெணல்   C) இரும்பு  D) சிசமண்ட ்
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128. The matrix of the bone tissue is in the form of 
concentric rings called 
 
A) Lacuna      B) Lamellae 
C) Chondrocyte    D) None of the above 
 
செறிவு வகையங்கைின் வடிவில் உை்ை எலும்பு 

திசு அணி ------------- என்றகேகக்ப்படுகிறது 

 

A) லகுனா  

B) லாசமல்கல 

C) கொண்டக்ராசிட ் 

D) கமகல குறிப்பிடப்படட் எதுவும்மில்கல 

 
129. Who has been named for 2018 Dr B.C. Roy 

National Award as an Eminent Medical Person of the 
Year? 
A) Dr Anil Mishra     
B) Dr Kumar Mangalam 
C) Dr B.K. Misra     
D) Dr Sathya Priya 
 
2018 டாக்டர ்பி.சி.ராய் மதசிய விருதுக்கு ஆண்டின் 

சிறநத் மருதத்ுவ நபர ்என வழங்கப்படட்வர ்யார?் 

 

A) டாக்டர ்அனில் மிஸ்ரா   

B) டாக்டர ்குமார ்மங்கலம் 

C) டாக்டர ்பி.மக. மிஸ்ரா    

D) டாக்டர ்சதய்ா ப்ரியா 

 
130. Wootz steel or Damascus steel, regarded as one of 

the wonders of the ancient world, has a characteristic 
meandering pattern. ‘Wootz’ is derived from the word 
‘Urukh’ which belongs to the language? 
 
A) Sanskrit      B) Tamil    
C) Prakrit       D) Ladakhi 
 
வூடஸ்் இரும்பு அல்லது டமாஸ்கஸ் இரும்பு, 

என்பது பண்கடய கால உலகின் அதிசயங்களில் 

ஒன்றாக கருதப்படுகிறது, ஒரு சிறப்பம்சமாக 

படம்டரன்் வாங்கியுள்ளது. 'வூடஸ்்' என்ற மசால் 

'உருக்' என்ற வாரத்க்தயிலிருநத்ு மபறப்படட்து 

எனில், அது எநத் மமாழியிலிருநத்ு மபறப்படட்து? 

 

A) சமஸ்கிருதம்     B) தமிழ்  

C) பிராகிருதம்     D) லடாக்ஹி 

 

 
131.  Which of the following is related to Article 16? 

A) Swaran Singh committee 
B) Verma Committee   
C) Mandal commission        
D) Santhanam commission 
 
பின்வருவனவற்றில் விதி 16 உடன் எது 

மதாடரப்ுகடயது? 

 

A) ஸ்வரன் சிங் குழு     

B) வரம்ா குழு 

C) மண்டல் ஆகணயம்    

D) சநத்ானம் ஆகணயம் 

 

 

 

 

132. Which of the following are correctly matched? 
I. Amitosis  -  Direct division 
II. Mitosis  -  Reduction division 
III. Meiosis -  Indirect division 
 
Choose the correct option from below 
A) I only      B) II only 
C) I and III only    D) II and III only 
 
பின்வருவனவற்றில் எது ெரியாக சபாருநத்ும்? 

I. அமிகடாசிஸ் - கநரடி பிரிவு 

II. கமகடாசிஸ் - குகறப்பு பிரிவு 

III. மகயாசிஸ் - மகறமுக பிரிவு 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும் 

A) I மடட்ும்      B) II மடட்ுகம 

C) I மற்றும் III மடட்ும்   D) II மற்றும் III மடட்ுகம 

 

133. Which one of the following was the first Mass 
India Movement of Gandhi? 
A) Champaran Satyagraha  
B) Rowlatt Satyagraha 
C) Civil Disobedience Movement 
D) Kheda Satyagraha 
 
காநத்ியின் முதல் அகில இநத்ிய மபாராடட்ம் 

ஆனது? 

A) சம்பரன் சதத்ியாக்கிரகம்   

B) ரவுலட ்சதத்ியாக்கிரகம் 

C) சடட் மறுப்பு இயக்கம்    

D) மகதா சதய்கிரகம் 

 

134. Which of the following can be said as a 
component of Matter? 
A) Light  B) Dust  C) Sound  D) Heat 
 
பின்வருவனவற்றில் பருப்சபாருைின்  கூறு எது? 

A) ஒைி    B) தூசி   C) ஒலி   D) சவப்பம் 

 
135. The first bus service between which Indian state 

and Nepal was flagged off on 11th September 2018? 
A) Jammu and Kashmir   B) Arunachal Pradesh 
C) Bihar       D) Assam 
 
2018 மசப்மடம்பர ் 11 அன்று எநத் மாநில 

அரசுக்கும் மநபாளதத்ிற்கும் முதல் பஸ் மசகவ 

மதாடங்கப்படட்ுள்ளது? 

A) ஜம்மு மற்றும் காஷ்மீர ்  

B) அருணாசச்ல பிரமதசம் 

C) பீகார ்       

D) அசாம் 

 

136. A hollow cylinder made of wood has thickness 1 
cm while its external radius is 3cm. If the height of the 
cylinder is 8cm, then find the volume  
 

1 மச.மீ. தடிமன் மகாண்ட மரதத்ினால் 

மசய்யப்படட் உருகளயானது, மவளிப்புற ஆரம் 3 

மச.மீ உகடயது. உருகளயின் உயரம் 8 cm 

என்றால், பின்னர ் அதன் கனஅளவு 

கண்டுபிடிகக்? 

 
A) 125.7cm3     B) 128.3cm3   
C) 124cm3      D) 130 cm3 
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137. In what ratio must a grocer mix two types of Rice 
costing Rs.7.50 per kg and Rs.10 per kg respectively, so 
as to get mixture worth Rs.8.25 per kg? 
 

ஒரு கிமலாவிற்கு ரூ .8.25 மதிப்புள்ள கலகவகயப் 

மபறுவதற்காக, ஒரு பலசரக்கு வியாபாரி எநத் 

விகிததத்ில் கிமலா ரூ. 7.50 மற்றும் கிமலா ரூ. 10 

உள்ள அரிசிகய கலக்க மவண்டும்? 

 
A) 4:3   B) 7:3   C) 8:3   D) 2:5 

 
138. If A: B=3:4, B: C=8:10 and C: D=15:17 then find 

A: B: C: D? 
 

A: B=3:4, B: C=8:10 மற்றும் C: D=15:17 எனில், A: B: C: D 

மதிப்பு காண்க? 
 

A) 9:12:15:17     B) 9:13:15:17   
C) 3:4:5:8      D) 7:9:12:15 
 

139. What will be the difference between total surface 
area and curved surface area of a hemisphere having 4 
cm diameter? 
 

4 மச.மீ விடட்ம் மகாண்ட ஒரு அகரகம்காளதத்ின் 

பரப்பின் மமற்பரப்பு பரப்பளவு மற்றும் வகளநத் 

மமற்பரப்பு இகடயில் உள்ள மவறுபாடு 

என்னவாக இருக்கும்? 

 
A) 2π sq cm     B) 3π sq cm   
C) π sq cm      D) 4π sq cm 

 
140. If in certain code ‘BRIGHT’ is written as 

‘CSJHIU’, then how will ‘PUNTER’ be written in that 
language? 
 

சில குறியீடு மமாழிகளில் 'BRIGHT' என்பது 'CSJHIU' 

என எழுதப்படட்ால், 'PUNTER' எப்படி அநத் 

மமாழியில் எழுதப்படும்? 
 

A) QVOUSF     B) QOVFUS   
C) QVOFUS     D) QVOUFS 
 

141. Consider the following statements: 
I. P2 or the type-2 strain of the wild poliovirus was 
eradicated in India in 2014. 
II. In 2016, India stopped administering the Trivalent 
Oral Polio Vaccine and replaced it with the bivalent 
vaccine that does not contain any live attenuated P2 
strain. 
Which of the statements given above is/are correct? 
A) I only       B) II only 
C) Both I and II     D) Neither I nor II 
 
பின்வரும் அறிகக்கககளக ்கவனியுங்கள்: 

I. P2 அல்லது மபாலிகவரஸின் வகக-2 வகக 

இநத்ியாவில் 2014 இல் அகற்றப்படட்து. 

II. 2016ல், மூன்று வாய்வழி மபாலிமயா தடுப்பூசி 

இயநத்ிரதத்ிகன பயன்படுதத்ுவகத இநத்ியா 

நிறுதத்ி அதற்கு பதிலாக பி 2 தடுப்பூசி 

இயநத்ிரதத்ிகன மூலம் மாற்றப்படட்து. 
 

மமமல மகாடுகக்ப்படட் அறிகக்கயில் எது 

சரியானது? 

A) I மடட்ும்   B) II மடட்ுமம 

C) I மற்றும் II   D) I அல்லது II இரண்டும் இல்கல 

142.  Which of the following article contains Gandhian 
Principle to organise village panchayat? 
A) Article 39       B) Article 37    
C) Article 40        D) Article 34 
 
பின்வரும் எநத் விதியில் கிராம பஞ்சாயதத்ு 

ஏற்பாடு மசய்ய காநத்ிய மகாள்கககள் உள்ளன? 

A) விதி 39       B) விதி 37    

C) விதி 40       D) விதி 34 

 

143. Prime Minister crop insurance scheme was 
launched in? 
 

பிரதம மநத்ிரி பயிர ் காப்பீடட்ு திடட்ம் 

அறிமுகப்படுதத்ப்படட் ஆண்டு? 

 
A) 18 feb, 2016     B) 19 feb, 2016  
C) 20 feb, 2016     D) 21 feb, 2016 
 

144. Consider the following Assertion and Reason. 
Assertion (A): Some small gap is usually left in railway 
tracks.  
Reason (R): During summer, more heat causes 
expansion in tracks hence to avoid collision, gap is left. 
 
Choose the correct option from below: 
A) Both A and R are correct and R is the correct 
explanation of A. 
B) Both A and R are correct and R is NOT the correct 
explanation of A. 
C) A is correct and R is wrong. 
D) A is wrong and R is correct. 
 
பின்வரும் கூற்று மற்றும் காரணதக்தக் 

கவனியுங்கை். 

கூற்று (A): சில சிறிய இகடசவைி வேக்கமாக 

ரயில் தடங்கைில் விடப்படும். 

காரணம் (R): ககாகட காலதத்ில், அதிக 

சவப்பதத்ால், தடங்கைில் ஏற்படட்ு உண்டாகும் 

கமாதகல  தவிரக்்க இகடசவைி விடப்படுகிறது. 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும்: 

A) A மற்றும் R ஆகிய இரண்டும் ெரியானகவ, 

மற்றும் R  A  இன் ெரியான விைக்கம் 

B) A மற்றும் R ஆகிய இரண்டும் ெரியாக உை்ைன, 

கமலும் A. ஆ ெரியான விைக்கம் இல்கல 

C) A ெரியானது, R தவறானது. 

D) A தவறு, R ெரி 

 

145. Monolithic Rathas are found at 
A) Mamallapuram     
B) Ellora  
C) Ajanta        
D) Sithanavasal 
 

ஒற்கறகக்ல்லால் ஆன ரதங்கள் எங்கு 

காணப்படுகின்றன? 

A) மாமல்லபுரம்      

B) எல்மலாரா  

C) அஜநத்ா       

D) சிதத்ன்னவாசல் 
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146. In which of the following treaty, Pondicherry was 
returned to the French? 
A) Treaty of Pondicherry   
B) Treaty of Paris 
C) Treaty of Mysore     
D) Treaty of Carnatic 
 

பின்வருவனவற்றில் எநத் ஒப்பநத்தின் 

அடிப்பகடயில், பாண்டிசம்சரி பிரஞ்சுகக்ு 

திரும்பி கிகடதத்து? 

A) பாண்டிசம்சரி ஒப்பநத்ம்  

B) பாரிஸ் ஒப்பநத்ம் 

C) கமசூர ்உடன்படிகக்க  

D) கரந்ாடக ஒப்பநத்ம் 

147.  Which of the following is a type(s) of 
Precipitation? 
 
I. Drizzle  II. Rain  III. Sleet  IV. Hail 
 
கீழ்வரும் வகககளில் எநத் வகக (கள்) என்பது 

எறியும் நிகல? 

I. தூரல்       II. மகழ    

III. ஆலங்கடட்ி மகழ   IV. வாழ் 

 
Choose the correct option from below 
கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும் 

A) I, II and III only   B) II, III and IV only 
C) I, III and IV only   D) I, II, III and IV 
 

148. Stem cells are used in the treatment of certain 
diseases. In present days, ________ blood is collected 
at the time of child birth and is being stored in stem cell 
banks to treat any diseases in the future 
A) Stomach     B) Heart 
C) Umblical cord    D) None of the above 
 
சில கநாய்களுக்கான சிகிெக்ெயில் ஸ்சடம் 

செல்கை் பயன்படுதத்ப்படுகின்றன. 

தற்கபாகதய நாடக்ைில், குேநக்த பிறநத் 

கநரதத்ில் ________ இரதத்ம் கெகரிகக்ப்படட்ு, 

எதிரக்ாலதத்ில் எநத் கநாய்ககையும் 

சிகிெக்ெயைிக்க ஸ்சடம் செல் வங்கிகைில் 

கெமிக்கப்படுகிறது 

A) வயிற்று      B) இதயம் 

C) சதாப்புை் சகாடி   D) எதுவும் இல்கல 

 
149. Sinjar mountains, recently in the news, is a 

mountain range found in 
A) Afghanistan  B) Iran  C) Iraq   D) Turkey 
 
சமீபதத்ில் மசய்திகளில், காணப்படட் சின்ஜார ்

மகலகள் எங்குள்ளது? 

A) ஆப்கானிஸ்தான்   B) ஈரான்   

C) ஈராக்       D) துருக்கி 

 
150. Name the person who resigned as the President of 

International Criminal Police Organization (Interpol), 
on 7thOctober 2018? 
A) Kim Jong Yang     
B) Meng Hongwei 
C) Ian Hoffman     
D) Victor Stanley 

சமீபதத்ில், 7 அக்மடாபர ் 2018ல் சரவ்மதச 

குற்றவியல் மபாலிஸ் அகமப்பு (இண்டரம்பால்) 

தகலவர ்பதவியில் இருநத்ு விலகியவர ்யார?் 

 

A) கிம் ஜாங் யாங்    

B) மமங் மஹாங்வீய் 

C) இயன் ஹாஃப்மமன்   

D) விகட்ர ்ஸ்டான்லி 

 
151. Foreign investment includes ----------- 

 

சவைிநாடட்ு முதலீடு ------------- உை்ைடகக்ியது 

 
A) FDI        B) FPI & FFI   
C) FDI & FPI     D) FDI & FFI 
 

152. Which of the following organs comes under the 
sensory system? 
 
I. Eyes  II. Nose  III. Ears   IV. Skin 
 
Choose the correct option from below 
A) I, II and III only   B) II, III and IV only 
C) I, II and IV only   D) I, II, III and IV 
 
பின்வரும் உறுப்புகைில் எது உணரெ்ச்ி 

அகமப்புக்கு உடப்டுகிறது? 

I. கண்   II. மூக்கு   III. காதுகை்   IV.கதால் 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும் 

A) I, II மற்றும் III மடட்ும்  

B) II, III மற்றும் IV மடட்ுகம 

C) I, II மற்றும் IV மடட்ுகம  

D) I, II, III மற்றும் IV 

 
153. Justice Party became the ruling party in the year? 

 

நீதிக் கடச்ி எநத் ஆண்டில் ஆளும் கடச்ியாக 

மாறியது? 

 
A) 1920  B) 1921   C) 1922  D) 1923 
 

154. Pick out the incorrect one regarding the 
Fundamental Duties. 
A) To respect National Flag and National Anthem 
B) To defend the country and render national service 
when called upon 
C) To vote in the state and central elections 
D) To safeguard public property and to abjure violence 
 
அடிப்பகட கடகமககளப் பற்றி தவறான 

உள்ளகத மதரந்ம்தடு: 

A) மதசிய மகாடி மற்றும் மதசிய கீததக்த மதிக்க 

மவண்டும் 

B) நாடட்ின் பாதுகாக்கவும் மற்றும் அகழப்பு 

மபாது மதசிய மசகவ வழங்கவும் மவண்டும்  

C) மாநில மற்றும் மதத்ிய மதரத்ல்களில் 

வாக்களிகக் மவண்டும்  

D) மபாதுச ் மசாதத்ுக்ககள பாதுகாப்பதற்கும் 

வன்முகறககளத ்ககவிடவும் மவண்டும் 
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155. The Agalega Islands is under the sovereign control 
of 
A) Maldives      B) France   
C) Mauritius      D) Seychelles 
 

அகமலகா தீவுகளானது எநத் அரசின் கீழ் 

உள்ளது? 

A) மாலதத்ீவுகள்    B) பிரான்ஸ்  

C) மமாரிஷியஸ்    D) சீமஷல்ஸ் 

 

156. Find the total surface area of a pyramid having a 
slant height of 8cm and a base which is a square of a 
side 4 cm? 
 

4 மசமீ பக்கம் உகடய ஒரு சதுரம் ஆனது, 8 cm 

சாய்வான உயரம் மகாண்ட பிரமிடுவின் 

அடிப்பகுதியாக உள்ளது. அதன் மமாதத் பரப்பு 

கண்டறிக? 

 
A) 64   B) 84   C) 80    D) 72 

 
157. What will be simple interest for 1 yr and 4 months 

on a sum of Rs.25800 at the rate of 14% per annum? 
 

ஆண்டு ஒன்றிற்கு 14% என்ற விகிததத்ில் ரூபாய் 

2,5800 மதாகககக்ு 1 வருடம் மற்றும் 4 

மாதங்களுக்கு தனி வடட்ி என்ன? 

 
A) 4816  B) 2580  C) 4224   D) 4815 

 
158. A boy walking at a speed of 20km/h reaches his 

school 30 min late. Next time he increases his speed by         
4 km/h but still he is late by 10 min. Find the distance 
of school from his house? 
 

20 கிமீ / மணி மவகதத்ில் ஒரு சிறுவன் நடநத்ு 30 

நிமிடங்கள் தாமதமாக தனது பள்ளியில் 

அகடகிறான். அடுதத் முகற அவன் தனது 

மவகதக்த 4 கிமீ / மணிமநரம் அதிகரிகக்ிறார,் 

ஆனாலும் 10 நிமிடம் தாமதமாக பள்ளிக்கு 

வருகிறார.் எனில், அவரது வீடட்ிலிருநத்ு 

பள்ளியின் தூரம் கண்டுபிடிக்க? 

 
A) 60 km  B) 50km  C) 40 km   D) 25 km 

 
159. A certain sum becomes 3 fold at 4% annual rate of 

interest. At what rate, it will become 6 fold? 
 

ஒரு குறிப்பிடட் மதாககயானது ஆண்டுகக்ு 4% 

வடட்ி விகிததத்ில் 3 மடங்காக ஆகியுள்ளது. எனில் 

எநத் விகிததத்ில், அது 6 மடங்காகும்? 

 
A) 13%   B) 12%  C) 10%   D) 9% 

 
160. What is 5% of 50% of 500? 

 

500 ல் 50% ன் 5% என்ன? 

 
A) 35   B) 12.5   C) 1.25  D) 6.25 

 
161. Name the first woman Secretary General of the 

Lok Sabha who has received one year extension from 
December 1, 2018 up to November 30, 2019? 
A) Poornima Reddy    B) Snehlata Shrivastava 
C) Ajitha Das      D) Praneetha Roy 

டிசம்பர ் 1, 2018 முதல் நவம்பர ் 30, 2019 வகர ஒரு 

ஆண்டு நீடட்ிப்பு மபற்ற மலாக் சபாவின் முதல் 

மபண் மசயலாளர ்தகலவர ்யார?் 

 

A) பூரண்ிமா மரடட்ி    

B) ஸ்மனஹலதா ஸ்ரீவஸ்தவா 

C) அஜிதா தாஸ்     

D) பிரனீதா ராய் 

 

162. Which of the following is NOT a literature of 
Third (Last) Sangam? 
A) Ettuthogai    
B) Pathuppattu  
C) Pathinenkeezh Kanakku  
D) Tolkappiam 
 

பின்வருவனவற்றில் எது மூன்றாம் (ககடசி) 

சங்கம் இலகக்ியம் இல்கல? 

A) எடட்ுதம்தாகக   

B) பதத்ுப்பாடட்ு  

C) பதிமனன் கீழ்க்கணகக்ு   

D) மதால்காப்பியம்  

 
163. Standard Essential Patents or SEPs are patents that 

are related to 
A) Communication technologies   
B) Pharmaceuticals 
C) Emission control technologies   
D) Defence industries 
 
தரமான அடிப்பகட முகக்ிய காப்புரிகம அல்லது 

SEP உடன் மதாடரப்ுகடய காப்புரிகமகள் இதன் 

மதாடரப்ானது  

A) மதாடரப்்புதத்ுகற மதாழில்நுடப்ங்கள் 

B) மருநத்ுகள் 

C) மாசு கடட்ுப்பாடட்ு மதாழில்நுடப்ங்கள் 

D) பாதுகாப்புத ்மதாழில்துகறகள் 

 

164. Match the following boundaries of Indian Ocean. 
Boundary   Direction 
a. Asia   - 1. West 
b. Africa  - 2. South 
c. Australia  - 3. North 
d. Antarctica - 4. East 
 
இநத்ிய மபருங்கடலின் பின்வரும் எல்கலககள 

ஒப்பிடுக. 

எல்கல           திகச  

a. ஆசியா -    1. மமற்கு 

b. ஆப்பிரிக்கா -   2. மதற்கு 

c. ஆஸ்திமரலியா -  3. வடக்கு 

d. அண்டாரட்ிகா -  4. கிழக்கு 

 
Choose the correct option from below 
கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும் 

  a  b  c  d 
A)  4  2  1  3 
B)  3  2  4  1 
C)  4  3  1  2 
D)  3  1  4  2 
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165. A cricket player while catching a ball lowers his 
hand in the direction of the ball. This is an example of 
A) Newton’s First Law            
B) Newton’s Second Law 
C) Newton’s third Law            
D) None of the above 
 
பநக்த பிடிக்கும் கபாது  ஒரு கிரிகச்கட ் வீரர ்

பநக்த வரும் திகெயில் தனது கககய 

இறங்குகிறார். இது -------------- இன் உதாரணம் 

A) நியூடட்னின் முதல் விதி  

பி. நியூடட்னின் இரண்டாவது விதி  

C) நியூடட்னின் மூன்றாவது விதி  

D) கமகல குறிப்பிடப்படட் எதுவும் இல்கல 

 

166. Who SpaceX launched India’s first privately built 
satellite _____ along with 63 other satellite from 18 
countries from California, USA, on 3rd December 
2018? 
 

2018 டிசம்பர ் 3 அன்று, அமமரிகக்ாவின் 

கலிஃமபாரன்ியாவிலிருநத்ு 18 நாடுகளில் இருநத்ு 

63 மற்ற மசயற்ககமகாள்களுடன் மசரந்த்ு 

இநத்ியாவின் முதல் தனிதத்னியாக 

உருவாக்கப்படட் மசயற்கககம்காகள 

இதன்மூலம் விண்மவளிக்கு மசலுதத்ப்படட்து? 

 
A) ExseedSAT 1     B) KalamSat 1   
C) Xplorer 2      D) RainSat 3 
 

167.  The introduction of No confidence motion in the 
Lok Sabha requires the support of at least 
A) 50 members    B) 40 members   
C) 30 members    D) 60 members 
 
மலாக் சபாவில் நம்பிக்ககயில்லாத 

தீரம்ானதத்ிகன அறிமுகப்படுதத் 

குகறநத்படச்ம் எதத்கன மபர ்ஆதரவு மதகவ? 

A) 50 உறுப்பினரக்ள்   B) 40 உறுப்பினரக்ள் 

C) 30 உறுப்பினரக்ள்   D) 60 உறுப்பினரக்ள் 

 

168.  The _____ acid in stomach kills the bacteria 
swallowed along with food and makes the medium 
acidic. 
A) Hydrochloric acid   B) Sulphuric acid 
C) Nitric acid     D) Citric acid 
 
வயிற்றில் உை்ை _____ அமிலம்  உணவுடன் கெரத்த்ு 

விழுங்கிய பாக்டீரியாகவ சகான்று மற்றும் 

நடுதத்ர அமிலதக்த உருவாக்குகிறது. 

A) கைடக்ராகுகைாரிக் அமிலம்    

B) ெல்பூரிக் அமிலம் 

C) கநடர்ிக் அமிலம்  

D) சிடர்ிக் அமிலம் 

 
169.  Kunwar Singh & Amar Singh lead the revolt in 

 
A) Lahore  B) Bihar  C) Kanpur D) Satara 
 
கன்வர ்சிங் & அமர ்சிங் தகலகமமயற்று எங்கு 

கலகம் நகடமபற்றது? 

 

A) லாகூர ்  B) பீகார ்  C) கான்பூர ் D) சதாரா 

 

 

170. Which of the following statement(s) is/are correct? 
I. Mantle comprises of 83% of Earth’s volume. 

II. The average density of the core is 3 g/cm2. 

 

பின்வரும் அறிகக்க (கள்) எது சரியானது? 

I. புவிமயாடானது 83% பூமியின் கனஅளகவக ்

மகாண்டுள்ளது. 

II. கமயப்பகுதியில் சராசரி அடரத்த்ி 3 கிராம் / 

மச.மீ2 ஆகும். 

 

Choose the correct option from below 

கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும் 

 

A) I only  B) II only  C) Both  D) None 

 

171. Consider the following statements about Sahitya 
Academy Award 
I. The Sahitya Academy Awardis a literary honor in 
India, which the Sahitya Akademi, India’s National 
Academy of Letters, annually confers. 
II. It is awarded for the books published in any of the 
major Indian languages except English. 
III. The first award was awarded pre independence. 
 
சாகிதத்ிய அகாமடமி விருது குறிதத் பின்வரும் 

அறிகக்கககள கவனியுங்கள் 

 

I. சாகிதத்ிய அகாடமி விருது இநத்ியாவில் ஒரு 

இலகக்ிய மகௌரவமாகும், இது இநத்ியாவின் 

மதசிய அகாடமி ஆஃப் மலடட்ரஸ்ின் சாகிதத்ிய 

அகாடமி மூலம் ஆண்டுமதாறும் 

வழங்கப்படுகிறது. 

II. ஆங்கிலம் தவிர எநத் மபரிய இநத்ிய 

மமாழிகளிலும் மவளியிடப்படட் புதத்கங்களுகக்ு 

இது வழங்கப்படுகிறது. 

III. முதல் விருது சுதநத்ிரதத்ிற்கு முன் 

வழங்கப்படட்து. 

 

Which of the above statements is/are incorrect? 
மமற்கூறிய அறிகக்கயில் எது தவறானது? 

 
A) I only  B) II only  C) III only  D) II and III 
 

172.  Who among the following can dissolve Rajya 
Sabha? 
A) Prime Minister       B) President     
C) Vice-President       D) None of these 
 
பின்வருவனவற்றில் யார ் ராஜ்ய சபாகவ 

ககலக்கலாம்? 

A) பிரதம மநத்ிரி     

B) ஜனாதிபதி 

C) துகணத ்தகலவர ்  

D) இவற்றில் எதுவுமம இல்கல 

 

173.  Kidney is an important excretory organ. Some of 
the excretory organs other than kidney is/are 
I. Skin    II. Lungs    III. Heart 
 
Choose the correct option from below 
A) I and II only    B) I and III only 
C) II and III only    D) I, II and III 
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சிறுநீரக ஒரு முகக்ிய கழிவுப்சபாருை் உறுப்பு 

ஆகும். சிறுநீரகதக்தத ் தவிர கவறு சில 

கழிவுப்சபாருை் உறுப்புகை் யாகவ? 

I. கதால்    II. நுகரயீரல்   III. இதயம் 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும் 

A) I மற்றும் II மடட்ும்  

B) I மற்றும் III மடட்ுகம 

C) II மற்றும் III மடட்ுகம  

D) I, II மற்றும் III 

 

174. Vellore mutiny took place in 
 

மவலூர ்கலகம் நடநத் வருடம் ஆனது 
 
A) 1805  B) 1815  C) 1806  D) 1817 
 

175. The melting point of diamond is  
A) 0 degree Celsius    
B) 100 degree Celsius 
C) 1570 degree Celsius   
D) 3550 degree Celsius  
 
கவரதத்ின் உருகும் புை்ைி 

A) 0 டிகிரி செல்சியஸ் 

B) 100 டிகிரி செல்சியஸ் 

C) 1570 டிகிரி செல்சியஸ்  

D) 3550 டிகிரி செல்சியஸ் 

 
176. PQR _ _ RS _ RS _ _S _ Q _ 

 
A) SPQPPRR     B) PPRRPPQ   
C) SQPPQPR     D) SQPRRQR 
 

177. Find the compound interest on Rs.31250 at 16% 
p.a compounded quarterly for 9 months 
 

காலாண்டில் 9 மாதங்கள் கடட்ுகிற ஆண்டுகக்ு 

16% என்ற விகிததத்ில் ரூ. 31250 கக்ு கூடட்ு வடட்ி 

எவ்வளவு? 

 
A) 4000  B) 3902  C) 3500  D) 4200 

 
178. If ‘FLARE’ is coded as 21, 15, 26,9,22 then how 

would ‘BRIEF’ be coded in the same language? 
 

'FLARE' என்பது ஒரு குறிப்பிடட் சங்மகத மமாழியில் 

21, 15, 26,9,22 என குறியிடப்படட்ால், 'BRIEF' என்பது 

அமத மமாழியில் எவ்வாறு குறியிடப்படும்? 

 
A) 25,9,22,21,18    B) 5,37,11,19, 13  
C) 13,19,11,37,5    D) 25,9,22,18,21 

 
179. 20 men can cut 30 trees in 4 hrs. If 4 men leave the 

job, how many trees will be cut in 12 hrs? 
 

4 மணி மநரதத்ில் 20 ஆண்கள் மகாண்டு 30 

மரங்ககள மவடட் முடியும். இதில், 4 ஆண்கள் 

மவகலகய விடட்ுவிடட்ால், எதத்கன மரங்கள் 12 

மணி மநரதத்ில் மவடட்ி முடிக்கப்படும்? 

 
A) 72   B) 80   C) 68   D) 79 

 

180. The difference between the Cost Price and Selling 
price of an article is Rs.240. If the profit is 20% the 
selling price is  
 

ஒரு மபாருளின் மகாள்முதல் விகல மற்றும் 

விற்பகன விகல ஆகியவற்றின் விதத்ியாசம் ரூ 

.240 ஆகும். அப்மபாருளின் இலாபம் 20% என 

இருநத்ால் அதன் விற்ற விகல என்ன? 

 
A) 1400  B) 1200   C) 1240  D) 1440  

 
181. Which of the following statements are correct with 

respect to citizenship bill 2016 
I. Grants citizenship status based on religion to illegal 
immigrants 
II. Seeks to cancel registration of OCI cardholders for 
violation of any law 
 
குடியுரிகமச ் சடட்ம் 2016 ன் பின்வரும் 

அறிகக்ககள் எகவ சரியானகவ? 

I. சடட்தத்ிற்கு புறம்பான 

குடிமயற்றக்காரரக்ளுகக்ு மத அடிப்பகடயிலான 

குடியுரிகம நிகலகய வழங்குதல் 

II. சடட்தக்த மீறியதற்காக OCI 

அடக்டதாரரக்ளின் பதிவுககள ரதத்ு மசய்ய 

முயல்கிறது 

 
Select the correct answer 
சரியான பதிகலத ்மதரந்ம்தடுக்கவும் 

 

A) I only       B) II only   
C) Both I & II     D) None 
 

182. Open split in the congress occurred in the session 
held at 
A) Surat      B) Karachi   
C) Belgaum     D) Madras 
 
காங்கிரஸ் பிளவு ஏற்படுதத்ிய மாநாடு? 

A) சூரத ்      B) கராசச்ி    

C) மபல்கம்      D) மசன்கன 

 
183.  Consider the following statements with respect to 

the power of the President of India. 
I. He can summons and prorogues either House of the 
Parliament. 
II. He can dissolve the Lok Sabha. 
III. He can dissolve the Rajya Sabha. 
 
இநத்ிய ஜனாதிபதியின் அதிகாரதக்தப் 

மபாறுதத்வகரயில் பின்வரும் அறிகக்கககள 

கவனியுங்கள். 

I. அவர ் பாராளுமன்ற அகவகள் இரண்கடயும் 

கூடட்லாம் மற்றும் தள்ளிகவக்க முடியும். 

II. அவர ்மலாக ்சபாகவ ககலக்க முடியும். 

III. அவர ்ராஜ்ய சபாகவ ககலக்க முடியும். 

 
Choose the correct option from below 
கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும்: 

 
A) I and II only    B) II and III only 
C) I and III only    D) I, II and III 
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184. A strain of Pseudomonas bacteria is developed as a 
superbug for 
A) Mapping DNA   B) Rh factor 
C) Clearing oil spills   D) as super bacters 
 
சூகடாகமானஸ் பாக்டீரியாவின் ஒரு திரிபு ஒரு 

சூப்பர ்வண்டாக எதற்காக உருவாக்கப்படட்து 

A) கமப்பிங் டிஎன்ஏ  

B) Rh காரணி 

C) எண்சணய் கசிகவ நீகக்ுதல்  

D) சூப்பர ்பாக்டீரியாக்கை் 

 
185. By which clouds thunderstorms are produced? 

A) Cumulus      B) Stratus 

C) Cumulo nimbus   D) Nimbus 

எநத் மமகதத்ின் மூலம் இடியுடன் கூடிய மகழ 

மபய்யும்? 

A) குவிமமகம்     B) பகட முகில்  

C) திரள் காரம்ுகில்    D) மகழப் பகடமுகில் 

 

186. Consider the following statements about 
Lymphatic filariasis 
I. It is a viral disease transmitted to humans through 
mosquitoes. 
II. It can lead to contraction of body parts in children. 
III. Over 40% of worldwide cases are found in India. 
 
நிணநீரக்் குழாய்ககளப் பற்றி பின்வரும் 

அறிகக்கககள கவனியுங்கள் 

I. இது மகாசுக்களால் மனிதரக்ளுகக்ு பரவும் ஒரு 

கவரஸ் மநாயாகும். 

II. இது குழநக்தகளில் உடல் பாகங்கள் சுருகக்ம் 

ஏற்படலாம். 

III. இநத்ியாவில் 40% க்கும் மமற்படட் வழக்குகள் 

காணப்படுகின்றன. 

 

Which of the above statements is/are correct? 
மமற்கூறிய அறிகக்கயில் எது சரியானது? 

 
A) I, II   B) II, III   C) III only   D) I, III 

 
187. Identify the advantages of Rural Roads. 

A) Rural marketing   B) Rural employment 
C) Rural development  D) All the above 
 
ஊரக ொகலயின் பயன்பாடாக கருதப்படுவது? 

A) ஊரக அங்காடி வெதி   

B) கவகலவாய்ப்பு  

C) ஊரக வைரெ்ச்ி     

D) இகவ அகனதத்ும் 

 

188. The smallest living cell is 
A) Bacterium     B) Bread  mold 
C) Mycoplasma    D) Virus 
 
மிகெ ்சிறிய உயிரணு 

A) பாக்டீரியம்      

B) சராடட்ி அெச்ு பூஞ்கெ 

C) கமக்ககாப்ைாஸ்மா    

D) கவரஸ் 

 
 

189. Justice Amitava Roy committee recently seen in 
news is constituted for the purpose of 
A) Resolution of stressed assets of Public Sector Banks 
B) Dealing with Sexual harassment at workplace 
C) Reforms in tax laws 
D) Prison Reforms 
 
சமீபதத்ில் மசய்திகளில் காணப்படட் நீதிபதி 

அமிதாவ ரய் கமிடட்ியின் என்ன 

மநாக்கதத்ிற்காக அகமக்கப்படட்து? 

A) மபாதுதத்ுகற வங்கிகளின் மசாதத்ுகக்ளின் 

தீரம்ானம் 

B) பணியிடதத்ில் பாலியல் துன்புறுதத்ல் 

ககயாள்வதில் 

C) வரிச ்சடட்ங்களில் சீரத்ிருதத்ங்கள் 

D) சிகற சீரத்ிருதத்ங்கள் 

 

190. At the top of Mt. Everest the air pressure is  

A) One-fourth the pressure at sea level 

B) One-third the pressure at sea level 

C) One-sixth the pressure at sea level 

D) One-twelfth the pressure at sea level 

எவமரஸ்ட ்மகல மீது காற்று அழுதத்ம் எவ்வாறு 

உள்ளது? 

A) கடல் மடட்தத்ில் நான்கில் ஒரு பகுதி அழுதத்ம் 

B) கடல் மடட்தத்ில் மூன்றில் ஒரு பங்கு அழுதத்ம் 

C) கடல் மடட்தத்ில் ஆறில் ஒரு பங்கு அழுதத்ம் 

D) கடல் மடட்தத்ில் பன்னிரண்டில் ஒரு பங்கு 

அழுதத்ம் 

 

191.  Consider the following statements. 
I. Indian National Congress formed ministries in major 
provinces in the elections that was held based on 
Government of India Act 1935. 
II. Jinnah celebrated the resignation of Congress 
ministers in 1939 as the day of Deliverence. 
 
Which of the above statement(s) is/are correct? 
A) I only  B) II only  C) Both  D) None 
 

பின்வரும் அறிகக்கககைக் கவனியுங்கை் 

I. 1935 இநத்ிய அரசின் சடட்தத்ின் அடிப்பகடயில் 

நகடமபற்ற மதரத்ல்களில் பிரதான 

மாகாணங்களில் இநத்ிய மதசிய காங்கிரஸின் 

ஆடச்ி அகமக்கப்படட்து. 

II. ஜின்னா 1939 ஆம் ஆண்டு காங்கிரஸ் 

அகமெெ்ரக்ைின் ராஜினாமாகவ விடுதகல 

தினமாக சகாண்டாடினார ் 

 

கமற்கூறிய அறிகக்கயில் (கை்) எது ெரியானது? 

A) I மடட்ும்      B) II மடட்ுகம 

C) இரண்டும்      D) எதுவும் இல்கல 

 

192. “Service to Poor is Service to God” – This 
statement was said by? 
A) Vivekananda       B) Periyar   
C) Ramakrishna Paramahamsar  D) Vallalar 
 

"ஏகழகளுகக்ு மசகவ மசய்வது கடவுளுகக்ு 

மசகவ மபான்றது" - இநத் அறிகக்க யாரால் 

கூறப்படட்து? 

A) விமவகானநத்ர ்  

B) மபரியார ்

C) இராமகிருஷ்ணா பரமஹம்சர ்

D) வள்ளலார ்
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193. Consider the following Assertion and Reason. 
Assertion (A): The coniferous plants usually have a 
three dimensional pyramidal shape. 
Reason (R): This pyramidal shape allows all the 
branches to receive more sunlight.  
 
Choose the correct option from below: 
A) Both A and R are correct and R is the correct 
explanation of A. 
B) Both A and R are correct and R is not the correct 
explanation of A.  
C) A is correct and R is wrong. 
D) A is wrong and R is correct. 
 
பின்வரும் கூற்று மற்றும் காரணதக்தக் 

கவனியுங்கை். 

கூற்று (A): ஊசியிகல தாவரங்கை் சபாதுவாக 

மூன்று பரிமாண படக்டக்கூம்புரு வடிவதக்தக ்

சகாண்டிருகக்ின்றன. 

காரணம் (R): இநத் படக்டகக்ூம்புரு வடிவம் 

அகனதத்ு கிகைகளும் சூரிய ஒைி சபற 

அனுமதிகக்ிறது. 

 

கீகே இருநத்ு ெரியான விகடகயத ் கதரவ்ு 

செய்யவும்: 

A) A மற்றும் R ஆகிய இரண்டும் ெரியானகவ, 

மற்றும் R  A  இன் ெரியான விைக்கம் 

B) A மற்றும் R ஆகிய இரண்டும் ெரியாக உை்ைன, 

கமலும் A. ஆ ெரியான விைக்கம் இல்கல 

C) A ெரியானது, R தவறானது. 

D) A தவறு, R ெரி 

 

194. Match the following 
a. Rowlatt Act    - 1. Ramsay Mc Donald 
b. Individual Satyagraha - 2. Ambedkar & Gandhi 
c. Poona Pact    - 3. Vinoba Bhave 
d. Communal Award  - 4. Satyapal 
 
பின்வருவகதப் மபாருதத்ுக: 

a. மரௌலட ்சடட்ம்   

- 1. ராம்மச மமக் மடானால்ட ்

b. தனிநபர ்சதத்ியாக்கிரகம்  

- 2. அம்மபதக்ர ்& காநத்ி 

c. பூனா ஒப்பநத்ம்  - 3. விமனாபாபாமவ 

d. வகுப்புவாத மகாகட  

- 4. சதய்பால் 

 
Choose the correct code 
கீமழ இருநத்ு சரியான விருப்பதக்த மதரவ்ு 

மசய்யவும் 

  a  b  c  d 
A)  1  2  3  4 
B)  1  2  4  3 
C)  4  3  2  1 
D)  4  3  1  2 
 

195. Who is the guardian of the public purse in India? 
A) Comptroller and Auditor General    
B) Reserve Bank of India 
C) State Bank of India 
D) Ministry of Finance 
 
 
 

இநத்ியாவில் மபாது பணப்கபகய பாதுகாப்பவர ்

யார?் 

A) தகலகம கணக்கு தணிகக்கயாளர ்  

B) இநத்ிய ரிசரவ்் வங்கி 

C) ஸ்மடட ்பாங்க் ஆப் இநத்ியா 

D) நிதி அகமசச்கம் 

 
196. What is the greatest number that divides 13850 

and 17030 leaves a remainder 17? 
 

17 ஐ மீதமாகக ் மகாண்டு 13850 மற்றும் 17030 ஐப் 

வகுக்கக்கூடிய மிகப்மபரிய எண் யாது? 

 
A) 477   B) 159   C) 107   D) 87 

 
197. If 2(x-1) + 2(x+1)=320, then find the value of x? 

 

2(x-1) + 2(x+1)=320 எனில் x ன் மதிப்பு கண்டுபிடி? 

 

A) 6   B) 8   C) 7   D) 5 
 

198. The HCF and LCM of two natural numbers are 12 
and 72, respectively. What is the difference between the 
two numbers, if one number is 24? 
 

இரண்டு இயல் எண்களின் மீ.மபா.வ மற்றும் 

மீ.சி.ம முகறமய 12 மற்றும் 72 ஆகும். அதில், ஒரு 

எண் 24 என இருநத்ால், இரண்டு எண்களுக்கு 

இகடயில் உள்ள விதத்ியாசம் என்ன? 

 
A) 12   B) 18   C) 21   D) 24 

 
199. If 16 × 8(n+2)=2m, then m is equal to 

 
16 × 8(n+2)=2m எனில், m எதற்கு சமமாக இருக்கும்? 

 

A) n+8   B) 2n+10  C) 3n+2  D) 3n+10 
 
200. How many multiples of 9 are there between 34 and 

235? 
 

34 மற்றும் 235 இகடமய உள்ள 9ன் மடங்குகள் 

எதத்கன? 

 
A)  23   B) 22   C) 24   D) 25 
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